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New Exams! Downloading 200-301 New Dumps to Guarantee 200-301
ertification Exam Pass Successfully[Q1-Q11

March/2020 New CCNA 200-301 Exam Dumps with PDF and VCE New Released Today! Following are some new 200-301 Real
Exam Questions! QUESTION 1 If anotice-level messaging is sent to a syslog server, which event has occurred?A. A network
device hasrestarted B. An ARPinspection hasfailed C. A routing instance has flapped D. A debug operation is runningCorrect
Answer: AQUESTION 2 What are two southbound APIs? (Choosetwo )A. OpenFlow B. NETCONFC. ThriftD. CORBA
E. DSCCorrect Answer: CDQUESTION 3 Which feature on the Cisco Wireless LAN Controller when enabled restricts
management access from specific networks?A. CPU ACL B. TACACSC. FlexACL D. RADIUSCorrect Answer:
BQUESTION 4 Which command automatically generates an |Pv6 address from a specified IPv6 prefix and MAC address of an
interface?A. ipv6 address dhcp B. ipv6 address 2001:DB8:5:112::/64 eui-64 C. ipv6 address autoconfig D.  ipv6 address
2001:DB8:5:112::2/64 link-local Correct Answer: CQUESTION 5Which command is used to specify the delay time in seconds for
LLDPtoinitialize on any interface?A. Ildptimer B. I[ldp holdtime C. Ildp reinit D. Ildp tlv-selectCorrect Answer:
DQUESTION 6 A Cisco IP phone receive untagged data traffic from an attached PC. Which action is taken by the phone?A. It
allows the traffic to pass through unchanged B. It dropsthetraffic C. It tagsthe traffic with the default VLAN D. It tagsthe
traffic with the native VLANCorrect Answer: CQUESTION 7 Refer to the exhibit. Based on the LACP neighbor status, in which
mode is the SW1 port channel configured?

SK1#sh locp neighbor
Flags: S - Device 1s requesting Slow LACPDUS
F - Device 15 requesting Fast LACPDUs
A - Device 15 in Active mode P - Device is in Passive mode

(hamel group 35 neighbors

Partner's information:

LACP port Admin Oper Port Port
Port Flogs Priority Dev ID Age key Key MNumber State
Etl/0 S 32768  oobb.ccBO.7000 8 0@ Ox23 @x101 @x3(
Etl/1 S 32768  oabb.ccBO.7000 8s @@ @x23 Ox102 @3
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A. passiveB. modeonC. autoD. activeCorrect Answer: AQUESTION 8 Refer to the exhibit. The show ip ospf interface
command has been executed on R1 How is OSPF configured’

Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (1D)10.3.3.3, Interface address 10.10.10
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length 0

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)
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A. Theinterfaceisnot participating in OSPF B. A point-to-point network typeis configured C. The default Hello and Dead
timersareinuseD. There are six OSPF neighbors on this interfaceCorrect Answer: AQUESTION 9 R1 has |learned route
192.168.12.0/24 vial S-S, OSPF, RIP and Internal EIGRP Under normal operating conditions, which routing protocol isinstalled in
therouting table?A. 1SISB. RIPC. Internal EIGRPD. OSPFCorrect Answer: CQUESTION 10 Which |Pv6 address block
sends packets to a group address rather than asingle address? A. 2000::/3 B. FC00::/7 C. FE80::/10 D. FF00::/8Correct Answer:
CQUESTION 11 Which statement correctly compares traditional networks and controller-based networks?A.  Only traditional
networks offer a centralized control plane B.  Only traditional networks natively support centralized management C.  Traditional
and controller-based networks abstract policies from device configurationsD.  Only controller-based networks decouple the control
plane and the data planeCorrect Answer: CResources from:
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